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(3 Hours) [ Total Marks : 100
N.B.: (1) Allguestionsare compulsory. b
(2) Write answer of both the section in the same answer paper.
(3) Figures to the right indicate full marks.

Section |
1. (a) Describe in brief the Political rights of Indian Citizens. 6
OR
What are the main characteristics of ‘Human Rights’ ?
(b) Explain the differences between Science and Philosophy. 8
OR

Explain the meaning and scope of Science.

" 2. (a) Describe the meaning and need of Human Rights. 6
. OR
Discuss Child Labour Prohibition and Regulation Act, 1986 in brief.
1 (b) Write the contributions of Dr. Homi Bhabha. 6
OR

Explain the contributions of Charles Darwin.

3. (a) Explain the role of NGO in protecting human rights. 6
OR
Explain the functions of National Commission for Schedule Tribes.
(b) Explain the contributions of Galileo. 6
OR

Write a note on Science and Religion.

4. (a) Explain the Narmada Bachao Andolan. 6
OR
. Discuss the peoples’ movements in India.
(b) Explain the kinds of Sciences. 6
OR

Explain the scope of Technology.
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Section |l

Explain the meaning and structure of Ecology.
OR
What are the reasons of environmental degradation ?
What is biotechnology ? Bring out its hazards.
OR
Explain the strengths and weaknesses of ‘Sonography’.

Explain the impact of dams.
OR

Explain the Environmental Ethics.

Explain the application of Nano-Technology.
OR

Write a note on nuclear power.

Explain various types of Wastes.
OR
Explain the impact of Thermal power project.
Write a note on cyber crime.
OR
What is Cloning ?

What is the need of ‘Carbon Bank’ in big cities of India ?
OR
What is Disaster Management ? State the main causes of disaster.
What are the applications of Laser Technology ?
OR
Explain the applications of space technology.
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Con. 20-13.
(3 Hours)

N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Section |

1. Explain the following terms in short (any five) :—
(a) Societal Concept of business (e) SAARC

(b) Micro Environment (f) Turnaround
(c) Mission (g) Merger
(d) WTO (h) Joint Venture.

[

Answer any three of the following :—
(a) What is business ? Explain its importance to society.

A Ro)g

GT-1401 @

[Total Marks : 100

10

30

(b) State and explain various components of external business environment.

(c) Explain three-fold objectives of business.
(d) State and explain the qualities of a successful entrepreneur.
(e) What is feasibility study ? State its contents.

()  Explain the term growth strategy. State the reasons for adopting growth strategy.

3. Write short notes on (any two) :—
(a) Project Report
(b) SWOT Analysis
(¢) Importance of Business Objectives
(d) Diversification of Business.

Section 11

4. Explain the following terms in short (any five) -

(a) ATM (e) E-Communication
(b) Merchant Banking () F.D.L

(c) Ombudsman (g) B.P.O.

(d) Organised Retailing (h) Tourism.

5. Answer any three from the following :—
(a) Explain the role of banking institutions.
(b) Explain various principles of insurance.

10

10

(c) What are measures undertaken to promote tourism and hospitality industry in India ?
(d) Enlist different forms of transport and explain them in brief.

(e) Discuss the factors responsible for growth of organised retailing in India.
(f)  What is K.P.O. ? Explain the future prospect of KPO in India.

6. Write short notes on (any two) :—
(a) Development Banking (c) Ethics in Retailing
(b) Types of Insurance (d) Careers in retailing.

10
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(3 Hours) | [ Total Marks : 100

N. B.: (1) Question Nos. 1 and 6 are compulsory.
(2) Besides compulsory questions attempt any two questions from each
section.
(3) Figures to the right indicate full marks.

Section I
I. (a) Define the following :— 10
(i) Open economy (iii) Money supply
(ii) Trade cycles (iv) Globalization.
(b) Distinguish betwegn :— 8

(i) Inflation and Deflation.
(ii) Organised and Unorganised employment.

2. (a) Explain circular flow of national income in closed economy. 8
(b) Discuss changing sectoral composition of Indias national income. 8
3. (a) Explain factors affecting velocity of circulation of money. 8
(b) Discuss the classical approach of demand for money. 8
4. (a) What are the causes of inflation ? 8
(b) Explain measures to control inflation. 8
5. Write notes on any two :— 16
(a) Phases of trade cycles
(b) Working of multiplier
(¢c) Determinants of supply of money
(d) Equilibrium in IS-LM model.
Section 11
6. (a) Define the following concepts :— 10
(i) Disinvestment (iii) SEZ
(ii) Small scale industries. (iv) Knowledge economy.
(b) Distinguish between :- 8
(i) Agriculture and Industry
(i1) Nationalisation and Globalisation.
7. (a) Explain role of agriculture in Indian economy. 8
(b) Examine the impact of WTO on Indian agriculture. 8
8. (a) What are the problems of small scale industries in india ? 8
(b) Discuss the measures to solve the problems of the small scale industries. 8
9. Explain significance and growth of service sector in Indian economy. 16
10. Write notes on any two :— 16

(a) Role of SSI in Indian economy

(b) Special [icnnonkc Zones
(c) Problems of Service sector in India

(d) National Population Policy, 2000.
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Con. 29-13. (OLD COURSE)

(3 Hours)

N.B. (1) Attempt any three questions from each section.

10.

11,

12.

Section I

(a) Define advertising and explain its role in the modern world. 8
(b) Distinguish between advertising and publicity. 8
(a) Explain the bases of market segmentation. 8
(b) State the merits and demerits of internet advertising, 8
(a) How does advertising raise standard of living ? 8
(b) Bring out the need for advertising research. 8
(a) Explain the factors that determine advertising budget. 8
(b) What are the benefits of testing advertising effectiveness ? 8
(a) Explain the stages in the product life cycle. 8
(b) What are the essentials of a good poster ? 8
Write short notes on (any three) :— 18

(a) Waste in Advertising (d) Packaging

(b) Doordarshan code (e) Advertising and Monopoly

(¢) Audit Bureau of Circulation (f) Good Slogan.

Section 11

(a) Explain the steps in media planning. 8
(b) Explain the different forms of advertising headlines. 8
(a) What are the functions of an advertising agency ? 8
(b) Discuss the different buying motives. 8
(a) State the essentials of a good copy. 8
(b) Bring out the importance of illustrations in advertising, 8
(a) What is visualisation ? State the steps in visualisation. 8
(b) Explain the merits and demerits of outdoor advertising. 8
(a) Discuss the criticisms levelled against advertising. 8
(b) What do you mean by AIDA formula ? 8
Write short notes on (any three) :— 18

(2) Tie both the sections together.
(3) Figures to the right indicate full marks.

(a) Future of Advertising

(d) Window Display
(b) Brand Name (e) Types of Layouts
(c) Advertising and Cultural Values (f) Television Advertising.

M\rmHSirg\(mrd) vy Revised)  Apdf Qunn

GT-1343

| Total Marks : 100 @
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Con. 29-13. 3
(REVISED COURSE)
(3 Hours)
N.B. (1) All questions are compulsory.
(2) Tie both the sections together.
(3) Figures to the right indicate full marks.
Section 1
1. Explain the following terms (any five) :—
(a) Advertising (f) Salesmanship
(b) Client Turnover (g) T.R.P.
(¢) Modelling (h) Internet Advertising
(d) A.B.C. (1) Product Research
(e) Slogan (j) Buying Motives.

2. Answer the following (any three) :—

(a)
(b)
(¢)
(d)
(e)
(H

Explain the role of advertising in modern world.

Explain the active participants in advertising.

How does advertising affect consumer price ?

What are the functions of advertising agencies ?

State the merits and demerits of television advertising.
Discuss the career options available in the field of advertising.

3. Write short notes on (any two) :—

(a)

(b)

Newspaper Advertising (c) Waste in Advertising
Zipping and Zapping (d) Media Research.

Section 11

4. Explain the following terms (any five) :—

(a)
(b)
(c)
(d)
(e)

N

(a)
(b)
(¢)
(d)
(e)
(f)

AIDA Formula (f) Testimonial
[.zlyout (g2) Demonstration
Caption (h) Visualisation
Logo (1) Headline

Brand Name (j) Window Display.

Answer the following (any three) :—

Explain the different types of customers.

Explain the types of copy.

What factors affect advertising budget ?

Why is testing advertising effectiveness essential ?
What are the functions of illustration ?

State the objectives of advertising campaign.

6. Write short notes on (any two) :—

(a)
(b)

Fantacy in Advertising (c) Radio Advertising
Mobile Advertising (d) Transit Advertising.

| Total Marks :

GT-1343

100
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Con. 22-13 (REVISED COURSE) GT-1103 @
(3 Hours) | Total Marks : 100

N.B. (1) From Section I Questions No. 1 and 2 are compulsory and attempt any one
question from question No. 3 and 4.
(2) From Section II Questions No. 5 and 6 are compulsory and attempt any one
question from question No. 7 and 8.
(3) Figures to the right indicate full marks assigned to the questions.
(4) Working note should form part of your answer.

Section —I

Q.1: Arun, Varun and Tarun carried on retail business in partnership, sharing profits and losses

in the ratio 2:3:5. The Trial Balance of the firm as at 31* March 2013 was as follows: 18

Particulars

Dr. Rs. Cr. Rs.

Sales 9,30.000

Trade Creditors 74.000
Furniture & Fittings 44,000
Freehold Premises (Purchased during the year) 1,20,000
Leasehold Premises 90,000
Addition and Alterations to leasehold premises 50,000
Purchases 5,60,000
Stock s on (1* April 2012) 84,000
Salaries and Wages 1,28,000
Office and Trade Expenses 90,400
Rent, Rates and Insurance 21,000
Professional charges 7,000
Debtors 41,200

Provision for Doubtful Debts 1000

Balance at Bank 87,400 i

Drawings: Arun 34,000
Varun 22,000
Tarun 18,000

Bills payable 30,400
Bills receivables 36,600
Printing and stationery 13,800

Loan from bank 20.000

Capital Afcs; . Arun 1,60.000

" --Varun 1,00,000

_~ Tarun 60,000

Current A/cs: Arun 32,000

Varun 24,000

Tarun 16,000

14,47,400 | 14,47,400

You are given the following additional information:

[ TURN OVER
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1) A debtor of Rs. 1,200 are to be written off and provision against the remaining debtors

should made at 5%
2) Professional charges include Rs. 5,000 fees paid in respect of the acquisition of the

leasehold premises, which are to be capitalized.
3) Depreciate Furniture and Fittings by 10%.
4) Provide for the following outstanding expenses as 6n 31* March 2013. Office and Trade

Expenses Rs. 4,800 Salaries and Wages Rs. 12,000.
5) Stock on 31* March 2013 was valued at Rs. 92,000.
6) Rates prepaid as on 31* March 2013 Rs. 5,000.

You are required to prepare the Trading and Profit and Loss A/c. for the year ended 31% March
2013 and the balance sheet as on that date.

Q2: A) State whether the following statements are true or false. (08)

‘1) To eliminate competition is one reason to admit new partner in a firm.

2) A partner may be retiring voluntarily from the firm.

3) The deceased partner is entitled to his share of accrued profits.

4) Unrecorded assets are not transferred to Realizauon Account.

5) Deficiency of the insolvent partner has to be borne by solvent partners in their profit
sharing ratio.

6) Profit & loss appropriation account is a second part of the Revenue Account.

7) In absence of information, interest at 6% p.a. is allowed on partner’s loan.

8) Excess of assets over liabilities is capital.

B) Give one word / term which can substitute each of the following. (08)

1) The account which shows changes in the value of assets and liabilities.
2) Stock at the beginning of the year.

3) -Allowance given to a customer for prompt payment.

4) Goods returned to the supplier.

5) Assets which are held temporarily.

6) Income earned but not received.

7) Liability likely to arise in future on happening of certain events.

8) Assets which are intangible but not realizable.-

Q.3: Seeta and Geeta are partners in the firm sharing profits & losses in the ratio of 3:2. The '

Balance Sheet of the firm on 31 December, 2012 was as follows: 16
Liabilities Rs. Assets Rs.
Creditors 70,000 | Goodwill 49 800
Investment Provision 20,000 | Investments 2,50,000
General Reserve 1,05,000 | Stock 1,50,000
Workmen’s Compensation Fund 60,000 | Debtors 2,00,000
Capital Accounts: Less: Provision 25,000 1,75,000
Seeta 3,00,000 Bills Receivable 1,25,000
Geeta 2,45,000 5,45,000 | Bank 50,200
8,00,000 8,00,000

On the above date, Meeta is admitted for 2/5" share in the profits or losses of the firm.
Following revaluations were made at the time of admission:
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1) Meeta is required to bring in Rs.5,00,000 as Capital
2) Her goodwill was calculated at Rs.1, 20,000. |
3) Secta and Geeta had purchased a machinery on hire purchase system for Rs. 1,

50,000, of which only Rs. 5,000 are to be paid. Both machinery and unpaid liability
did not appear in the Balance Sheet.

4) There was a joint life policy on the lives of Seeta and Geeta for Rs. 7, 50,000.

Surrender value of the policy on the policy on the date of admission amounted to Rs.
3, 00,000.

5) Accrued incomes not appearing in the books were Rs. 4,000.
6) Market value of investment is Rs. 2, 39,000.
7) Claim on account of workmen compensation is estimated at Rs.7,500

8) Disha. whose account was written off as bad in earlier year, has promised to pay Rs.
17,500 in settlement for her full claim.
9) Provision for doubtful debts is required at Rs. 30,000.

Prepare Revaluation Account. , Partners Capital Accounts and Opening Balance Sheet after
admission of Meeta

Q. 4: Avi, Dik and Dee were partner in a firm sharing profits in the ratio of 2:4:4. Their Balance

Sheet on 31* March, 2013 was as follows: 16
Liabilities Rs. Assets Rs.
Account Payable 1,50,000 1| Land and Buildings 4,70,000
Bank Overdraft 1,20,000 | Office Equipment 80,000
Dik’'s Loan 1,80,000 | Stock 5,60,000
Joint Life Insurance Policy Reserve 1,50,000 [ Account Receivable 1,80,000
Capitals: Joint Life Insurance Policy 1,50,000
Avi 2,00,000 Bank 1,60.000
Dik 4,00,000

Dee 4,00,000 10,00,000

| 16,00,000 : 16,00,000

Partners agreed to dissolve the firm on that date. You are given the following information
about dissolution: . )

' 1) The Joint Life Insurance Policy was surrendered for Rs. 90,000.

2) Office Equipment was accepted by a creditor for Rs. 70,000 in full settlement. The

remaining creditors were paid in full by cheques.
3) Assets realized as follows:

a. Land and building Rs. 12, 00,000
b. Stock Rs. 4, 00,000
c. Accounts receivable Rs. 1, 50,000

4) Other liabilities were paid in full.
5) Dissolution expenses amounted to Rs. 30,000.
You are required to prepare Realisation Account, Bank Account and Capital Account of the

Partners.
[ TURN OVER
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Section —I1

Q.5: M and N were partners sharing profits and losses in the ratio of 2:4 and O and P
were partners sharing equally. Following were their Balance Sheet as on 31% March 2013.

18

Liabilities

Mand N
(Rs.)

Assets

M and N
(Rs.)

OandP

Capital Accounts:

Goodwill

40,000

M

3,00,000

Plant & Machinery

2,00,000

2,70.000

N

Furniture

80,000

90.000

0

2,50,000

Stock

2,00,000

2,40.000

P

*3,20,000

Debtors

1,90,000

1,70.000

Creditors

1,00,000

1,50,000

Fixtures

16,000

12,000

Bills Payable

40,000

80,000

Bank

30,000

26.000

Outstanding Rent

20,000

15,000

Cash

4,000

7.000

7,60,000

8,15,000

7,60,000

8,15,000

The firms are amalgamated ori the following terms:

. Outstanding Rent was paid by cheques in full by the respective firms,
. Creditors of both the firms were taken by the new firm at a discount of 5%.
Plant and Machinery is subject to 5% depreciated of both the firms.

. Fumiture of ‘O’ and ‘P’ was sold in the market for Rs. 80,000 and furniture of ‘M’ and

"N’ was not taken over by the new firm.
Fixtures were not taken over by the new firm.

Stock of ‘M’ and ‘N’ was valued at Rs. 2, 21,000 and that of ‘O’ and ‘P’ was valued at
Rs. 2, 01.000.

. Goodwill of M/s M and N is valued at Rs, 60,000 and that of M/s O and P at Rs. 80,000.
Goodwill account is not being retained in the books of the new firm.

. Capital of each partner in the new firm is to be maintained at Rs. 2, 50,000 by bringing

cash or paying cash, as the case may be.
You are required to prepare

1. Realisation A/c and
2. Partners Capital A/c in the books of both the firms and
3. Amalgamated Balance Sheet of the new firm.

Q.6: A) State whether the following statements are true or false:
1) AS-16 deals with accounting for amalgamation.
2) In amalgamation old firms are called as amalgamated firms.

3) In Branch Account under Debtors System all transactions are recorded.
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4) A consignee is a person who cosigns goods for sale.

5) Del credere commission is calculated at a certain percentage on credit sales.

6) Installment is treated as a hire charge in Installment System.
7) Depreciation is charged on Hire Purchase Price.

8) Normal goods are slow moving goods.

B) Fill in the blanks with most suitable words and rewrite the sentence.

E) sewronoens Businessmen take out an insurance policy.

2) asssinies ... is equal to Salvage plus loss of stock

B} ceaaine is the amount paid at the time of delivery of goods.
Bicananiss is equal to Cash Price plus Interest.

| R is sent by consignee.

) siansvisy is a statement giving the particulars goods supplied.
Tisswisisews Branch is not maintaining complete books of accounts.
B) vinnvizons is the amount payable to a vendor firm by the new firm.

Rs. 10, 00,000 on the date of purchase i.e.1* April, 2010.
Rs. 8, 00,000 on 31* March, 2011.
Rs. 8, 00,000 on 31* March, 2012.
Rs. 8, 24,780 on 31* March, 2013.

(08)

Q.7: The City Transport Ltd. Purchased, Truck from the Jeet Motors Ltd., on Hire Purchase
basis. The cash price of the Truck was Rs. 32, 00,000.
The amounts were payable as under: -

16

The Jeet Motors Ltd., charged interest at 5% p.a. on the unpaid amount. The purchasing
company decided to write off as depreciaiion 20% on the diminishing balance each year.

It closes its account on 31* March every year.

[ TURN OVER

You are required to give Truck Account, The Jeet Motors Ltd. Account and Interest Account
in the books of City Transport Ltd. according to Credit Purchase method.
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().8: The premises of K. Gopal were destroyed by tire on 30U me, 2012, Following lgures waic

however available trom various sources. Prepare a statement of claim in respect of loss of stock foi

tbmission to the Fire Insurance Company 16

I'he firm closes its books on 31* December every year

DETAILS 2009 2010 2011 30.06.2012
Rs. Rs. Rs. Rs.
Opening Stock 10,000 22,000 11,800 34.000 :
Purchases less returns 90,000 1,45.000 2,63.200 43.000
Sales less returns 1,00,000 1,98.500 3,05,500 46.000
Freight Inward 4,000 3,000 5,000 1.000
Closing Stock 22,000 11,800 34,000 2
Freight Outward _ 5,000 7,000 6.000 600

In 2009, while valuing the closing stock, a slow moving item costing Rs. 5,000 was valued

at Rs. 4,000. This was sold for Rs.. 4,500 in 2010. In 2010 an item costing Rs.. 6,000 was

g

wrongly valued at Rs.. 7,000. This was sold for Rs. 5,500 in 2011. In 2011 a slow moving

item costing Rs. 12,000 was valued at Rs. 10,000, 50% of which was sold before 30.6.12

for Rs. 6,000. The value of salvage was Rs. 4,000.
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N.B.: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Section |

1. Explain the following terms (any five) :— 10
(@) Hundi

(b) Cheque
(c) Free consent

(d) Wageing contract
(e) Guarantee

(f) Seller

g

(g9) Contract.

2. Answer any three from the following :— 30
(a) State the various Modes of the Discharge of Contract.
(b) Who can be appointed as Agent ? State right and duties of agent.
(c) What is ‘Pledge’ ? State essentials and distinguish between ‘Pledge and Lien’.
(d) What is 'Bailment’ 7 State the essentials of Bailment.
(e) What is contract of Indemnity ? State the right of Indemnity holder.
(f) Write a short note on unpaid seller.

3. Write a short notes on any two of the following :— 10
(a) Proposal
(b) Void Agreement
( c) Auction Sale
(d) Consideration.

Section |l

4. Explain the following terms (any five) :— 10
a) Company

) Promoter

) Director

) Prospectus

) Shareholder

f) Stocks

) Public company
) Consumer goods.

(
(b
(c
(d
(e
(
(9
(h

5. Answer any three from the following :— 30
(a) When a Private Company can become a Public Company ?
(b) State the Right of a partner under the Partnership Act, 1932.
(c) Define ‘Society' and state the features of a Co-operative Society.
(d) Who is Consumer ? Why he needs protection ?
(e) State in detail the agencies established for redressal of consumer disputes.
(f) Distinguish between Partnership and Company.

6. Wirite a short notes on any two of the following :— 10
(a) Unfair Trade Practice
(b) Appeals

(c) Right of Consumer
(d) Hoarding of goods.

[ TURN OVER
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N.B. (1) All questions are compulsory.
(2) Figures to the right indicate full marks.
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Section I
1. Define any five concepts :— 10
(a) Scalar chain (e) Departmentation
(b) Policy (f) Scheduling
(c) Reorder level (g) Span of Control
(d) Line Organisation (h) Unity of direction.
2. Answer any three questions :— 30

(a) Explain the continuous production system.
(b) What is quality ? Explain its dimensions.
(c) What are the components of planning ?
v (d) What is inventory ? Explain various inventory costs.
(e) Describe the bases of Departmentation.
(f) Discuss the features-advantages and limitation of Matrix Organisation.

3. Case study : From the following information — 10
(a) Annual consumption 15,000 units
(b) Unit price ¥ 30/-
(¢) Procurement cost per order ¥ 300/-
(d) Carrying cost is 10%

Calculate
(i) EOQ
(ii)) Define Ordering Cost.
Section 11
4. Define any five concepts :— 10
(a) Credit Rating (e) Gross Working Capital
(b) Financial Management (f) Commercial Paper
(¢) Risk and Return (g) Stock Exchange
(d) Leasing (h) Capital Market.
5. Answer any three questions :— 30
(a) Explain the meaning and advantages of FDI.
(b) Write short note on SEBI.

(¢) Examine the sources of working capital.

[ TURN OVER
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(d) What are the methods of accessing capital markets ?
{ \

What are the objectives of financial management ?

(f) Describe the factors influencing capital structure of a company.

6. Case Study :

Particulars L4
Equity share capital (5000 * 10) 5,00,000
10% Preference share capital 3,00,000
Reserve and Surpluses 10,00,000
Net Profit 2,00,000

Market Rate of dividend 20%
Cost of goods sold (Credit Purchase) 18,00,000

Creditors 1,00,000

Calculate :
(a) Book Value of Share
(b) Real Value of Share
(¢) Earnings per share
(d) Credit Payment period.
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